Turev ~4

KAVRAMA ~4

1. f(x)=(sin3x)3
olduguna gore, gy

—— degerini bulunuz.
X

2. f(x)=tan(cotx)

degerini

olduguna gore, Iimw
h—0 h

bulunuz.

_1-cosx
1+cosx

3. f(x)

olduguna gore, f’(g] degerini bulunuz.

4, f(X)=cosx.sin?2x

olduguna gore, f(gj degerini bulunuz.

5. f(x)=tan(+fsinx )

bulunuz.

fonksiyonunun tdrevini

6. f(x)=arcsin(cos(x?) fonksiyonunun tlrevini

bulunuz.

7. f(x):arccos(\ll—xz) fonksiyonunun tlrevini
bulunuz.

8. f(x)=arccot(tanx) fonksiyonunun tirevini
bulunuz.
9. f(x)=w fonksiyonunun tirevini
tanx

bulunuz.

10. f(x)=arcsin(cosx.sinx) fonksiyonunun tdrevini
bulunuz.
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